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Accel Geom/ Adv Alg

Benchmark 1 Review Part | Date — _____ Period

1) ﬁnd the values of x and y that make the equation 5x + 6i = —35 — (24y)i true Dy - - '5?
m B.x=-1/7.Y=-1/4 C.x=-1/7,y=-4 D.x=-7,y=-4 li / 204
/J - - Yy
2) Find .the complex conjugate of 5i + 7 1 Yo L b 1 5L
@  B.7+5i C.51-7 D. -7~ 5i
3) Write the result in the férm a+ bi: —2i(4+ 3i) — 3(5 + 90)

“S (Tt -15-21

4) Express V—192 in simplest radical form ‘ |92
~N
A.8V3 B. V192 @ D. 3iV8 “ /g /,Z"?»f—'
ug o/
I
VG
5) Find the product and quotient of (5 + 2i) and (3 - 8i) ?f;ii
Product: Quotient: B
(5420) (»-§1) B2V BEEL \GpuL ik A
|5 - 4D ¥ LiFIWY 2 U AL L S TR TR T
_oy _ T2 v Ul
H1 =340 = | — 1 Tt
i '1 6

Simplify the following powers of i
6) —4i12 ) 2354 2 i:8) 503 — 21
MO 25l BEn-au
1-3-21 -5-3 = [-1)

9) Find the product i\/7(6 - i\/7) 10) Simplify —i23/=100

- Li=-17() —10¢ .
. - L
L5 = (- o) = MO

eV 37

1+ i
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~-SIMp
LIFY EACH OF THE FOLLOWING EXPRESSIONS: Ry
, ¢

. ) 3 :l-is_ ] 3\/\-"*” 3 _ e '.
. \/; - X X7 J—— | \/LiX’ 12) ,,_z'"}ﬁ : K2
N |

: Lx(ﬁfiﬂ 0
Z: _ !

T N
632 5/3 = 3 9 14) (a?bz) Valop7
b St
X ALV Nl e, a2
] | Ab (@ o)

LF’ i T[;Z_;l bw

Y L\,ﬂﬂ

80L
15) \/; ® L*\Fﬁ- 16) \/:W -
S LLXZ 17 lpx?

v A ‘

e

3

s |s
19)x§ ‘Ax%yz xy 20) 3faxs 'bﬁ : % ‘ Z‘XB
3 N
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¢

Determine the functlon/equatlon with the following roots:

1L x=20,-4
2

2. x=0multof3s 2 mult of 2
1(2)('“)()”"]30 ' /X (5)( q) Sy L}) &
(2XX) (xty) -0 q ._ (Hxi- ‘W’)(’Y P
7x2+ExX X HUX- —- L
3 2B U‘DXH +|(0/ -0 |
Solve the foll;]:v)u(ng :;adoriaﬁcs l:l\—/ 3\(;] L T o
3. x?=7x+18 4. f(x) =x*+3x2 4
X3-¥-g-0 U (3=1= 0
[ -+ 0 A orLe-1y-o
- )
~ [Ea,-2] [X=t20, £
5. 2x3 — 7x = 13x2 1Y 6. —4x = 25x3 + 2042

L1357 0 % Ax %+ auxt+ Uy -
(22X - =0

XC1ox 20y pu)-
(X214 X -1 XHH)=0

2x( - Vx-M X(’bx\— 2)1: 0
X(2x3 1) (x-1 =0

( ! ' =(4, -1 Loy -
X=0,-Vz, X Ol “lg MuaLe C«*ér 2
Solve the followifg quadra |cs Yy COMPLETING THE SQUARE:

7. x%2+12x + 39 = 0

8 3x2=21x+9

219
x1+r1x+éu"-5q+aw )
x4
e P .
: gy = ny
Xtb = {3 A -1
! [ X=—lt 1 Jﬂ (x-712) =)
eslot o

ya
1+l
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Solve the following for x:

9. §x2+18=0

yA
2B

[x>-[27¢3%
(23]

Factor each of the following completely:

11. 16x10 — 4y16

4 yx'2-Y'v)
[4(1ery) (- y?))
3,
13. 15x% —100x + 60 ) -7
D (3x%- 2ux+\2) %

(BxE-19x)-2x +12D
X CX-)-2(X-¢)

[7 Gx-2Xx-0) )
Simplify the following:
I3 Uy

3[15x8

15.

80x2

e Ay

10. 16x% —7 =42

lpx*-1a )
jXLﬂ &U“G'/l;u

I

)

REE |

12. 3x%—15x3 —150x?
(XY~ Sx - 90)

(XX S ),
e

14
14. 24x%—30x—9 PV
-0
38 x>~ 10X -2)
B x=- 1y x -2 )
AN 1% - 200 2% %)
—_— T )
@kaH)(lX*é)_J‘»
Vx® X%lﬁ e
16. 5)1 \—X/ |
(x)3 \0 - J
/i o
RV

| xteng)
L|,

g 8, DL \§-U LR £
3+i Z‘L \—___—q‘a)/-ﬁi i’%—
- 41§
10

_[F-as
5

18. —5i51/=%
5% Al

.91
—|0L6

—10 (1) :[:T/O—I
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1. Write in the form a+bi
6(2 + 5i)2

b6 (2150)
(' ar200) (1+si)

ﬁ

AT+G0 L HL0( K10/

2. Solve by square roots.

{:W’Lu +)1ULWJ

3(x~5)2-10=86
2X-N =y
Jesyt{2
=t Yy \I_Z—_—

X
X=0Y4Jz
3.Solve by factoring.

4x6 — 68x*

= —64x?
X 0YXF X = O
UK (4= x> v) = 0
(XD XEN=0
U XU (XY LK =0

108x* = 3x
}UgXH~;x1
X (Zux = 1)

oo LoD (ke =0
“?Othu—Sﬁfl Vm

4. Find the value(s) of k for which the expressnon 16x2 + 8x + 2k isa perfect square trinomial.

ngl b)1 )2 d)4

5. Find a value of k for which the expression 3x2% + 6x + k

if factorable (more than one answer).

lis]  |bo REE R EREERTE) gxl’g’(@X’a
DXUuxHI€ Frgx—a SUKTTLY 1)
SUXTH2xx b Wt
D 3UMIx-3) s Tlxrs
DCx+2)x-1) Trsei ey
6. Find the value of b in each perfectsquaretrmomlal 3 (X )T
x2 — bx + 144 4x? —bx+16 3x_?+bx+27
z 3 5
b2y b= 11y .
X+ g}(f'q
bslg
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